. W=1190 W=1190 W=1190 90~110
FARBPAYEVSE X (SUS) kv FL—IL (AL
M4 x 20 65 $6540
. X I kv FL—ILS(F (AL)
S6133P 2|
¢ | | | | L=l
] g | | | |
s | | | |
DY ! ! ! !
~ | | | | ke
(& THE) ‘ ‘ ‘ ‘ =
o
SFAFFE—k | | | | S
PKS—601 | | | | i
/F LR (AL) | | | | o
/ S2225P \ \ \ \ ‘”’%
22 ‘ ‘ ‘ e S
77’“[—< X (AL) o !n o !n o !n o !v k=
S5545 of | bo o | bo o [[ro of b =
J/ =3
59 ISR .
— AL X
¥ ¥ -
" % X FILEiSH
= S3050RT—9020
/| N
in FHE(AL) f o AR HAEMTSY vk (AL
P I S5545 \ \ P55WAA200
BERTVH— | HEXK! LR (SUS)
M12x130(SUS) g ‘ M6 x 30
. | NARILEF YR (SUS)
M12 x 80
" T#(AL)
S4455P o
QI TR 8 (A
FS44CHA _—
3 BEBEATS7 v (AL TIEEH
PESWAAZOO S3050RT—9020
HEXR LA (SUS)
e 125
= M6 x 30 s )
2 AFARILM VR (SUS) ERARERHETEREY
g M12 x 80
e - =
- T IV H ‘ T#(AL) I3 LA (AL) ‘ D6MT 4 Z(SUS)
N S3050BT—9020 || S4455P S2225p | M4 x 13
TAEAD | s—ysy ‘ TRy T )
S5545 | (RZ2IHE) | KS6540ECP
* o o B N e e e, . - =aihbn N — — — — —— ] — — — — —
¥l 8§ ¢ o = .
@ ===
=0 =3 N Nk = — 11—
4 P S— o
s EfFE—R 45
PKS—601 °
‘]
| S— M\ | | 20~30
¥ R w7 (AL / .
*T FHARRS vy T (AL) EEZTH— W1 1905 - -
PSS5ECUA 4 T £RTUAR LR =M12 X 130(SUS)
1 T
VAN — =zl & 4§ T4 EERS L F Y —N PN N % WA |fERkA &
A | &t E"‘ﬁﬁ , SUDNRAL uit:*i#/b_Jb oy | ey g
o — il EETA 300% “KRY—SS L 4 nou | ok | (ERFTER
_— = P
ﬁ | T ~ # WH7 h—T% W R| (A3) 1/4 1/30
iy — B | | $6540— B/ AL (S —UL T HEHE) FRY A X (A3)

7 H :2006.12.07

WEH : 2010.6.22

QOO OPDOOPDOLOD

E-033



